Physics 12 Booklet #1

Collisions on 2D

A 0.5 kg ball is travelling at 5.0 m/s to the left when it strikes a stationary 0.75 kg ball at an angle, after
the collision the first ball is moving at 3.5 m/s at an angle of 35° above its original path. What is the

velocity of the second ball after the collision? 3 - (; 7-«‘:0/4' '
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Physics 12 Booklet #1

“A_2500 kg truck is travelling at 16 m/s to the West when it is struck by a 1200 kg car travelling 36 m/s
North. The vehicles stick together. What is velocity of the vehicles after the collision. What kind of
collision is this? What is the change in kinetic energy of the system?
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